
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

AC6096 10.04 ac602ge K38 31-JAN-05

Engines GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  AC6096 Air Cleaner  Cleaner, air...(More)

     Cylinders: 12 duty rating:

     Normal

     Aspiration: Turbocharged

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('ac602ge','/rtgraphics/english/parts/ac/6/ac602ge_sm.png');
javascript:swap_img('ac602ge','/rtgraphics/english/parts/ac/6/ac602ge_md.png');
javascript:swap_img('ac602ge','/rtgraphics/english/parts/ac/6/ac602ge_lg.png');


     manufactuer: Fleeguard model

     AF4553 m environmental use:

     In/outdoor mounting location:

     Horizontally over rear of

     engine filter quantity: 2

     element disposition:

     Disposable kitted or mounted:

     Kitted.

 4925089 Air Cleaner 1  

1       S 104 Hexagon Head Cap Screw 4 3/8 - 16 X 2 1/4 in.

2       S 111 Hexagon Head Cap Screw 6 5/16 - 18 X 1 1/2 in.

3       S 221 Heavy Hexagon Nut 6 5/16 - 18 UNC

4       68425 Clip 2  

5       108708 Hexagon Head Cap Screw 4 7/16 - 14 X 3 1/4 Inch.

6       140313 T-Bolt Clamp 2 6 1/8 Inch.

7       3014766 Captive Washer Cap Screw 9 3/8 - 16 x 1 3/64 in.

8       3030515 Elbow Hose 2  

9       3030778 Elbow Hose 2  

10       3042329 Plain Washer 29 3/8 in.

11       3042330 Plain Washer 4 3/8 in.

12       3064941 Plain Hexagon Nipple 2  

13       3175623 T-Bolt Clamp 4 7 3/4 Inch.

14       3201128 Regular Hexagon Nut 25 3/8 - 16 UNC.

15       3329550 Hexagon Flange Head Cap Screw 2  

16       3627145 Hump Hose 2  

17       3627206 T-Bolt Clamp 6  

18       3902114 Hexagon Flange Head Cap Screw 2 M8 X 1.25 X 30.

19       4062055 Vibration Isolator 8  

20       4917706 Air Cleaner Bracket 1  

21       4917720 Air Inlet Tube 1  



22       4917721 Air Inlet Tube 1  

23       4917722 Air Inlet Tube 1  

24       4917723 Air Inlet Tube 1  

25       4917724 Air Cleaner Bracket 2  

26       4917729 Air Cleaner Bracket 1  

27       4917730 Air Cleaner Strap 2  

28       4917750 Air Cleaner Housing 2 Use Fleetguard 71686A-20

29           4924946 Wing Nut 1  

30           4924947 Air Cleaner Element 1  

31       4917751 Air Cleaner Strap 4 Use Fleetguard 394871400S

32       4917752 Restriction Indicator 2 Use Fleetguard 393371100S

33       4917963 Water Tube Bracket 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

